



On Euler Type Integrals Involving Extended Mittag-Leffler Functions

Sunil Joshi, Ekta Mittal, Rupakshi Mishra Pandey

ABSTRACT: The object of the present paper is to establish some interested theorems on Euler type integral involving extended Mittag-Leffler function. Further, we reduce some special cases involving various known functions like Wiman function, Prabhakar function, exponential and Binomial functions.

Key Words: Mittag-Leffler function, Hypergeometric function, Exponential function.

Contents

1 Introduction	125
2 Main Result	127
3 Special Cases	130
4 Conclusion	133
References	133

1. Introduction

Swedish mathematician Gosta Mittag-Leffler (1903) introduced the function

$$E_{\alpha}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}, \Re(\alpha) > 0, \alpha \in \mathbb{C}. \quad (1.1)$$

where z is a complex variable and Γ is a Gamma function $\alpha \geq 0$. The Mittag-Leffler function is a direct generalization of the exponential function to which it reduces for $\alpha = 1$. For $0 < \alpha < 1$, it interpolates between the pure exponential and hypergeometric function $\frac{z}{z-1}$. Its importance realized during the last two decades due to its involvement in the problems of physics, chemistry, biology, engineering and applied sciences. For obtaining solutions of fractional differential and integral equations Mittag-Leffler function plays an important role. Mittag-Leffler function is connected with an extensive variety of problem in diverse areas of mathematics and mathematical physics. In addition, from exponential behavior, the deviations of physical phenomena could also be represented by physical laws via Mittag-Leffler functions. Therefore, the uses of Mittag-Leffler functions are constantly increasing, especially in physics.

2010 *Mathematics Subject Classification*: 35B40, 35L70.

Submitted January 12, 2017. Published October 05, 2017

The generalization of $E_\alpha(z)$ was studied by Wiman in 1905 and he defined the function as

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, (\alpha, \beta \in C, \Re(\alpha) > 0, \Re(\beta) > 0). \quad (1.2)$$

Which is known as Wiman function.

Later In 1971, Prabhakar introduced the function $E_{\alpha,\beta}^\gamma(z)$ in the form of

$$E_{\alpha,\beta}^\gamma(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n z^n}{\Gamma(\alpha n + \beta) n!}, (\alpha, \beta, \gamma \in C, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0), \quad (1.3)$$

where $(\gamma)_n$ is the Pochhammer symbol (Rainville (1960)).

$$(\gamma)_n = \frac{\Gamma(\gamma + n)}{\Gamma(\gamma)}, (\gamma)_0 = 1, (\gamma)_n = \gamma(\gamma + 1)(\gamma + 2) \dots (\gamma + n + 1), \text{ for } n \geq 1.$$

In the year 2007, Shukla and Prajapati introduced the function $E_{\alpha,\beta}^{\gamma,q}(z)$ and in the year 2009 Tariq O. Salim introduced the function $E_{\alpha,\beta}^{\gamma,\delta}(z)$ which are defined for $\alpha, \beta, \gamma \in C; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, q \in (0, 1) \cup N$ and for $\alpha, \beta, \gamma, \delta \in C; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0$, are as follows

$$E_{\alpha,\beta}^{\gamma,q} = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta) n!} \quad (1.4)$$

$$E_{\alpha,\beta}^{\gamma,\delta} = \sum_{n=0}^{\infty} \frac{(\gamma)_n z^n}{\Gamma(\alpha n + \beta) (\delta)_n} \quad (1.5)$$

Finally in 2012, a new generalization of Mittag-Leffler function was defined by Salim as

$$E_{\alpha,\beta,p}^{\gamma,\delta,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} z^n}{\Gamma(\alpha n + \beta) (\delta)_{pn}}, \quad (1.6)$$

where $\alpha, \beta, \gamma, \delta \in C; \min[\Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0]$ and $p, q > 0$.

In 2013, a new generalized form of Mittag-Leffler function is defined by Mumtaz Ahmad Khan et al. [10] as

$$E_{\alpha,\beta,\nu,\sigma,\delta,p}^{\mu,\rho,\gamma,q} = \sum_{n=0}^{\infty} \xi z^n, \quad (1.7)$$

where

$$\xi = \frac{(\mu)_{pn} (\gamma)_{qn}}{\Gamma(\alpha n + \beta) (\nu)_{\sigma n} (\delta)_{pn}}$$

and $\alpha, \beta, \gamma, \delta, \rho, \sigma, \mu, \nu \in C; p, q > 0, q < \Re(\alpha) + p$ and $\min\{\Re(\alpha), \Re(\beta), \Re(\gamma), \Re(\delta), \Re(\rho), \Re(\sigma), \Re(\mu), \Re(\nu)\} > 0$.

2. Main Result

Theorem 2.1. *If $\alpha, \beta, \gamma, \delta, \rho, \sigma, \mu, \nu, \eta \in C$, $\{\Re(\alpha), \Re(\beta), \Re(\gamma), \Re(\delta), \Re(\rho), \Re(\sigma), \Re(\mu), \Re(\nu), \Re(\eta)\} > 0$, $q < \Re(\alpha) + p$, then*

$$\begin{aligned} & \int_0^1 u^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \frac{(\mu)_\rho n(\gamma)_{qn}}{\Gamma(\alpha n + \beta)(\nu)_{\sigma n}(\delta)_{pn}} (z)^n B(\alpha n + \beta, \eta, A) \end{aligned}$$

Proof: We consider L.H.S. of Theorem (2.1) by I_1

$$I_1 = \int_0^1 u^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(u-1)}\right] \sum_{n=0}^{\infty} \xi(zu^\alpha)^n du$$

using the change of order of integration, we get

$$\begin{aligned} &= \sum_{n=0}^{\infty} \xi(z)^n \int_0^1 u^{\beta+\alpha n-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(u-1)}\right] du \\ &= \sum_{n=0}^{\infty} \xi(z)^n B(\alpha n + \beta, \eta, A) \end{aligned}$$

which is required result. $\square$

Corollary 2.2. *For $A = 0$, then theorem (2.1) reduces the following result*

$$I_1 = \frac{1}{\Gamma(n)} \int_0^1 u^{\beta-1} (1-u)^{\eta-1} E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du = E_{\alpha, \beta+n, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(z).$$

Theorem 2.3. *If $\alpha, \beta + n, \gamma, \delta, \rho, \sigma, \mu, \nu, \eta, \lambda, k, A \in C$, $\{\Re(\alpha), \Re(\beta), \Re(\gamma), \Re(\delta), \Re(\rho), \Re(\sigma), \Re(\mu), \Re(\nu), \Re(\eta), \Re(k), \Re(\lambda), \Re(A)\} > 0$, $q < \Re(\alpha) + p$, and $\arg\left|\frac{bc+d}{ac+d}\right| < \pi$, then*

$$\begin{aligned} & \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \text{Exp}\left[\frac{-A}{(u-a)(b-u)}\right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}[z(b-u)^\omega] du \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \zeta(z)^n (b-a)^{-2m+k+\eta+\omega n-1} \\ & \times B(k-m, \eta+\omega n-m)(ac+d)^\lambda {}_2F_1\left[\begin{matrix} k-m, & -\lambda; & \frac{-(b-a)c}{ac+d} \\ k+\eta+\omega n-2m, \end{matrix}\right] \end{aligned}$$

where

$$\zeta = \frac{(-A)^m (\mu)_\rho n(\gamma)_{qn}}{m! \Gamma(\alpha n + \beta)(\nu)_{\sigma n}(\delta)_{pn}}.$$

Proof:

$$\begin{aligned} & \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \cdot \sum_{m=0}^{\infty} \frac{(-A)^m}{m!(u-a)^m (b-u)^m} \sum_{n=0}^{\infty} \xi[z(b-u)^\omega]^n du \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \zeta(z)^n \int_a^b (u-a)^{-m+k-1} (b-u)^{\omega n+\eta-m-1} (cu+d)^\lambda du \end{aligned} \quad (2.1)$$

Using the integral [4, p.263], we have

$$\begin{aligned} & \int_a^b (t-a)^{\alpha-1} (b-t)^{\beta-1} (ut+v)^\gamma dt = B(\alpha, \beta) (b-a)^{\alpha+\beta-1} (au+v)^\gamma \\ & {}_2F_1 \left[\alpha, \quad -\lambda; \quad \alpha + \beta; \quad \frac{-(b-a)u}{au+v} \right], \\ & \Re(\alpha) > 0, \Re(\beta) > 0; \arg \left| \frac{bu+\nu}{au+\nu} \right| < \pi \end{aligned}$$

Again, using above result in (2.1), we have

$$\begin{aligned} &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \zeta(z)^n (b-a)^{-2m+k+\eta+\omega n-1} \cdot B(k-m, \eta+\omega n-m) (ac+d)^\lambda \\ & {}_2F_1 \left[\begin{matrix} k-m, & -\lambda; & \frac{-(b-a)c}{ac+d} \\ k+\eta+\omega n-2m \end{matrix} \right] \end{aligned}$$

□

Corollary 2.4. Put $A = 0$ then Theorem (2.3) reduces to the following interesting result

$$\begin{aligned} & \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}[z(b-u)^\omega] du \\ &= (ac+d)^\lambda \sum_{n=0}^{\infty} \xi(z)^n B(k, \eta+\omega n) (b-a)^{k+\eta+\omega n-1} \\ & {}_2F_1 \left[\begin{matrix} k, & -\lambda; & \frac{-(b-a)c}{ac+d} \\ k+\eta+\omega n; \end{matrix} \right] \end{aligned}$$

Corollary 2.5. For $a = 0, b = 1$, then theorem (2.3) reduces to

$$\begin{aligned} & \int_0^1 (u)^{k-1} (1-u)^{\eta-1} (cu+d)^\lambda \text{Exp} \left[\frac{-A}{u(1-u)} \right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}[z(1-u)^\omega] du \\ &= (d)^\lambda \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \zeta(z)^n B(k-m, \eta+\omega n-m) \\ & {}_2F_1 \left[\begin{matrix} k-m, & -\lambda; & \frac{-c}{d} \\ k+\eta+\omega n-2m; \end{matrix} \right] \end{aligned}$$

Theorem 2.6. *If $\alpha, \beta, \gamma, \delta, \rho, \sigma, \mu, \nu, k, \eta, A \in C$, $\{\Re(\lambda), \Re(k), \Re(A)\} > 0$, $\lambda_1, \lambda_2 \geq 0$, $q \leq \Re(\alpha) + p$ and $\{\Re(\alpha), \Re(\beta), \Re(\gamma), \Re(\delta), \Re(\rho), \Re(\sigma), \Re(\mu)\Re(\nu), \Re(\eta)\} > 0$, then*

$$\begin{aligned} & \int_0^1 (u)^{k-1} (1-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du \\ &= \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \xi(z)^n (a)_r B(k + \alpha n + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!} \end{aligned}$$

Proof: We starts from L.H. S. of theorem (2.6),

$$\int_0^1 (u)^{k-1} (1-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du$$

and using the definition of the generalized Mittag- Leffler function, we have

$$\begin{aligned} & \int_0^1 (u)^{k-1} (1-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)}\right] \sum_{n=0}^{\infty} \xi(z)^n (u^{\alpha n}) du \\ &= \sum_{n=0}^{\infty} \xi(z)^n \int_0^1 (u)^{k+\alpha n-1} (1-u)^{\eta-k-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)}\right] du \end{aligned} \quad (2.2)$$

By using the integral [2, Eq.(3.5)]

$$\begin{aligned} & \int_0^1 (u)^{\lambda-1} (1-u)^{\mu-\lambda-1} [1-tu^\rho(1-u)^\sigma]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)}\right] du \\ &= \sum_{n=0}^{\infty} (\alpha)_n B(\lambda + \rho n, \mu - \lambda + \sigma n, A) \frac{t^n}{n!} \end{aligned}$$

Using above result in (2.2), we get

$$\sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \xi(z)^n (a_r) B(k + \alpha n + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!}$$

□

Corollary 2.7. *For $a = 0$, the theorem (2.6) reduces to the following result*

$$\begin{aligned} & \int_0^1 (u)^{k-1} (1-u)^{\eta-k-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \xi B(k + \alpha n, \eta - k; A) \end{aligned}$$

Corollary 2.8. For $a = A = 0$, then theorem (2.6) reduces to

$$\begin{aligned} & \int_0^1 (u)^{k-1} (1-u)^{\eta-k-1} E_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \xi B(k + \alpha n, \eta - k) \end{aligned}$$

3. Special Cases

Case-1 (i) Put $\mu = \nu, \rho = \sigma$ and $p = 1$ in Theorem (2.1), we get

$$\begin{aligned} & \int_0^1 (u)^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta, \delta}^{\gamma, q}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{(\delta)_n} B(\alpha n + \beta, \eta; A) \end{aligned}$$

(ii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1$ in theorem (2.1), we get

$$\begin{aligned} & \int_0^1 (u)^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta}^{\gamma, q}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!} B(\alpha n + \beta, \eta; A) \end{aligned}$$

(iii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1, q = 1$ in theorem (2.1), we get

$$\begin{aligned} & \int_0^1 (u)^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta}^{\gamma}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!} B(\alpha n + \beta, \eta; A), \end{aligned}$$

where $E_{\alpha, \beta}^{\gamma}(z)$ is Prabhakar function.

(iv) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = \gamma = q = 1$ in theorem (2.1), we get

$$\begin{aligned} & \int_0^1 (u)^{\beta-1} (1-u)^{\eta-1} \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha, \beta}(zu^\alpha) du \\ &= \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)} B(\alpha n + \beta, \eta; A), \end{aligned}$$

where $E_{\alpha, \beta}[z]$ is Wiman function.

Case-2 (i) Put $\mu = \nu, \rho = \sigma$ and $p = 1$ in theorem (2.3), we get

$$\begin{aligned}
& \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \\
& \times \exp\left[\frac{-A}{(u-a)(b-u)}\right] E_{\alpha,\beta,\delta}^{\gamma,\sigma}[z(b-u)^\omega] du \\
& = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m (\gamma)_{qn}}{m! \Gamma(\alpha n + \beta) (\delta)_n} (z)^n (b-a)^{-2m+k+\eta+\omega n-1} \\
& \times B(k-m, \eta+\omega n-m) (ac+d)_2^\lambda F_1 \left[\begin{matrix} k-m, \\ k+\eta+\omega n-2m \end{matrix} \quad -\lambda; \quad \frac{-(b-a)c}{ac+d} \right]
\end{aligned}$$

(ii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1$ in theorem (2.3), we get

$$\begin{aligned}
& \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \\
& \times \exp\left[\frac{-A}{(u-a)(b-u)}\right] E_{\alpha,\beta}^{\gamma,\sigma}[z(b-u)^\omega] du \\
& = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m (\gamma)_{qn}}{m! \Gamma(\alpha n + \beta) n!} (z)^n (b-a)^{-2m+k+\eta+\omega n-1} \\
& \times B(k-m, \eta+\omega n-m) (ac+d)^\lambda {}_2F_1 \left[\begin{matrix} k-m, \\ k+\eta+\omega n-2m \end{matrix} \quad -\lambda; \quad \frac{-(b-a)c}{ac+d} \right]
\end{aligned}$$

(iii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1, q = 1$ in theorem (2.3), we get

$$\begin{aligned}
& \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \\
& \times \exp\left[\frac{-A}{(u-a)(b-u)}\right] E_{\alpha,\beta}^{\gamma}[z(b-u)^\omega] du \\
& = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m (\gamma)_n}{m! \Gamma(\alpha n + \beta) n!} (z)^n (b-a)^{-2m+k+\eta+\omega n-1} \\
& \times B(k-m, \eta+\omega n-m) (ac+d)^\lambda {}_2F_1 \left[\begin{matrix} k-m, \\ k+\eta+\omega n-2m \end{matrix} \quad -\lambda; \quad \frac{-(b-a)c}{ac+d} \right]
\end{aligned}$$

where $E_{\alpha,\beta}^{\gamma}$ is Prabhakar function.

(iv) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = \gamma = q = 1$ and $\alpha = 0, \beta = 1$ in theorem

(2.3), we get

$$\begin{aligned}
& \int_a^b (u-a)^{k-1} (b-u)^{\eta-1} (cu+d)^\lambda \\
& \times \text{Exp}\left[\frac{-A}{(u-a)(b-u)}\right] [1-z(b-u)^\omega]^{-1} du \\
& = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(-A)^m}{m!} (z)^n (b-a)^{-2m+k+\eta+\omega n-1} \\
& \times B(k-m, \eta+\omega n-m) (ac+d)^\lambda {}_2F_1\left[\begin{matrix} k-m, & -\lambda; & \frac{-(b-a)c}{ac+d} \\ k+\eta+\omega n-2m \end{matrix}\right]
\end{aligned}$$

where $[1-z(b-u)^\omega]^{-1}$ is a binomial function.

Case-3 (i) Put $\mu = \nu, \rho = \sigma$ and $p = 1$ in theorem (2.6), we get

$$\begin{aligned}
& \int_0^1 (u)^{k-1} (1-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \\
& \times \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha,\beta,\delta}^{\gamma,q}(zu^\alpha) du \\
& = \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)(\delta)_n} (z)^n (a)_r B(k + \alpha n + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!}
\end{aligned}$$

(ii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1$ in theorem (2.6), we get

$$\begin{aligned}
& \int_0^1 (u)^{k-1} (1-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \\
& \times \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha,\beta}^{\gamma,q}(zu^\alpha) du \\
& = \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)n!} (z)^n (a)_r B(k + \alpha n + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!}
\end{aligned}$$

(iii) Put $\mu = \nu, \rho = \sigma$ and $p = \delta = 1, q = 1$ in theorem (2.6), we get

$$\begin{aligned}
& \int_0^1 (u)^{k-1} (1-u)^{\eta-k-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \\
& \times \text{Exp}\left[\frac{-A}{u(1-u)}\right] E_{\alpha,\beta}^{\gamma}(zu^\alpha) du \\
& = \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)n!} (z)^n (a)_r B(k + \alpha n + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!}
\end{aligned}$$

where $E_{\alpha,\beta}^{\gamma}$ is Prabhakar function.

- (iv) Put $\mu = \nu, \rho = \sigma$ and $\gamma = \alpha = \beta = p = \delta = q = 1$ in theorem (2.6), we get

$$\begin{aligned} & \int_0^1 (u-a)^{k-1} (b-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \text{Exp}\left[\frac{-A}{u(1-u)} + zu\right] du \\ &= \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \frac{z^n}{n!} (a)_r B(k + \lambda_1 r + n, \eta - k + \lambda_2 r; A) \frac{t^r}{r!} \end{aligned}$$

where $\text{Exp}(zu)$ is an exponential function.

- (v) Put $\mu = \nu, \rho = \sigma$ and $\gamma = \alpha = \beta = p = \delta = q = 1$ in theorem (2.6), we get

$$\begin{aligned} & \int_a^b (u-a)^{k-1} (b-u)^{\eta-\lambda-1} [1-tu^{\lambda_1}(1-u)^{\lambda_2}]^{-a} \\ & \times \text{Exp}\left[\frac{-A}{u(1-u)}\right] [1-z]^{-\gamma} du \\ &= \sum_{r=0}^{\infty} \sum_{n=0}^{\infty} \frac{z^n (\gamma)_n}{n!} (a)_r B(k + \lambda_1 r, \eta - k + \lambda_2 r; A) \frac{t^r}{r!} \end{aligned}$$

where $E_{0,1}^\gamma$ is a binomial function.

4. Conclusion

In this paper we presented Euler type integrals involving generalized Mittag-Leffler function defined by [6]. The obtained results provides an extension of known results [10]. Our paper concludes with the remark that the reported result are significant and can lead to yield the number of other Euler type integral involving different kinds of Mittag-Leffler functions.

Acknowledgments

We are thankful to referee for valuable suggestions.

References

1. M. A. Chaudhry, A. Qadir, M. Rafiq, and S. M. Zubair, *Extension of Euler's beta Function*, Applied Mathematics and Computation, 78, no. 1, 19-32 (1997).
2. S. Khan, B. Agrawal, M. A. Pathan and F. Mohammad, *Evaluations of certain Euler type integrals*. J. Applied Mathematics and Computation, 189, no. 2, 1993-2003 (2007).
3. T. R. Prabhakar, *A singular integral equation with a generalized MittagLeffler function in the kernel*, Yokohama mathematical journal, 19, 7-15 (1971).
4. A. P. Prudnikov, Y. A. Brychkov and O. I. Matichev, *Integrals and Series*, vol. 1, Gordon and Breach Science Publishers, New York, (1990).
5. A. Wiman, *Über den Fundamentalsatz in der Theorie der Funktionen $E_a(x)$* , Acta Mathematica, 29, no.1, 191-201 (1905).
6. M. A. Khan, S. Ahmed, *On some properties of the generalized Mittag-Leffler function*, Acta Springer Plus, 2, no.1, 1-9 (2013).

7. T. O. Salim, *Some properties relating to the generalized Mittag-Leffler function*, , Advances in Applied Mathematical Analysis, 4, no. 1, 21-30 (2009).
8. T. O. Salim, A. W. Faraj, *A generalization of integral operator associated with fractional calculus Mittag-Leffler function*, Journal of fractional calculus and applications, 3, no.5, 1-13 (2012).
9. A.K.Shukla, J.C.Prajapati, *On a generalised Mittag-Leffler function and its properties*, Journal of Mathematical Analysis and Application, 336, no. 2, 797-811 (2007).
10. S. Ahmed, M. A. Khan, *Euler type integral involving generalized Mittag-Leffler function*, Communication of the Korean Mathematical Society, 29, no. 3, 479-487(2014).
11. N. Menaria, S. D. Purohit, R. K. Parmar, *On a new class of integrals involving generalized Mittag-Leffler function*, Surveys in Mathematics and its Applications, 11, 1-9 (2016).
12. E. D. Rainville, *Special functions*, (vol. 8), Macmillan, New York (1960).
13. K. S. Nisar, S. D. Purohit, M. S. Abouzaid, M. A. Qurashi and D. Baleanu, *Generalized k -Mittag Leffler function and its composition with Pathway integral operators*, Journal of Non-linear Sciences and Applications, 9, no. 6, 3519-3526 (2016).
14. S. D. Purohit, *Solutions of fractional partial differential equations of quantum mechanics*, Advances in Applied Mathematics and Mechanics, 5, no. 5, 639-651 (2013).
15. S. D. Purohit, S. L. Kalla, and D. L. Suthar, *Fractional integral operators and the multiindex Mittag-Leffler functions*, Journal of Computational and Applied Mathematics, 118, 241-259 (2000).
16. A. Chouhan, S. D. Purohit, and S. Saraswat, *An alternative method for solving generalized differential equations of fractional order*, Kragujevac Journal of Mathematics, 37, 299-306, (2013).

Ekta Mittal,
Department of Mathematics,
The IIS University Jaipur,
India.
E-mail address: ekta.jaipur@gmail.com

and

Sunil Joshi,
Department of Mathematics and Statistics,
Manipal University Jaipur,
India.
E-mail address: sunil.joshi@jaipur.manipal.edu

and

Rupakshi Mishra Pandey,
Department of Mathematics,
Amity University, Noida,
India.
E-mail address: rup_ashi@yahoo.com